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Quiz 1

Circle the letter of the best answer to each question.

1. Which of the following instructions would most need to be privileged on a dual mode processor?

(a) Switch from privileged mode to user mode.

(b) Send a character to a printer.

(c) Perform a trap.

(d) Write a value into the interrupt vector.

2. When an operating system is designed in layers,

(a) each layer can only use facilities defined in that layer.

(b) each layer can only use facilities defined in that layer or higher layers.

(c) each layer can only use facilities defined in that layer or lower layers.

(d) each layer can use facilities defined in any other layer.

3. When a command interpreter is asked to run a program that is found in an executable file, it

(a) does a forks and then an exec in the child process.

(b) does an exec without the need for a fork.

(c) does a fork without the need for an exec.

(d) does neither a fork nor an exec.

4. Two threads that are part of the same process

(a) share the same run-time stack.

(b) cannot both be in the ready queue at the same time.

(c) always switch back and forth using cooperative multiprogramming.

(d) can communicate through shared memory.

5. The fork system call is used to

(a) make the current process run a different program.

(b) create a new process.

(c) create a new thread within the currently running process.

(d) yield the CPU to another process.

6. When a single-threaded process performs an input/output request, it

(a) is put on a wait queue, and does not perform any processing until the request is satisfied.

(b) is terminated, since processes are not allowed to make input/output requests.

(c) is moved to the ready queue, and will check the input/output device the next time it has a chance to run.

(d) busy-waits for the input/output device to finish.

7. The execv system call is used

(a) to cause the current process to run a different program.

(b) to cause the current thread to run a different program, without affecting what other threads do.

(c) to cause the creation of a new process that runs a different program.

(d) to cause the current process to terminate.

8. Which of the following is NOT a mechanism to allow two processes or threads to communicate with one another?

(a) The system ready queue.

(b) Shared memory.

(c) Remote procedure call.

(d) Rendezvous.

9. Which of the following would  be LEAST likely to be part of an operating system’s kernel?

(a) Process management.

(b) Memory management.

(c) Disk management.

(d) Command interpreter.

10. A system call is typically made by

(a) writing a value into kernel memory.

(b) performing an I/O interrupt.

(c) performing a trap.

(d) doing a procedure call to a procedure in the operating system kernel.

11. Which of the following would be LEAST likely to be thought of as a fundamental characteristic of an operating system?

(a) It provides services to programs via system calls.

(b) It manages system resources.

(c) It makes it possible to run many processes on a single processor.

(d) It displays web pages.

12. A batch operating system normally

(a) runs many programs together.

(b) runs one program at a time.

(c) supports time sharing and interactive computing.

(d) allows processes to run in background while foreground processes perform interactive services.

